



Some Results on Conditionally Compatible and Conditionally Semi-Compatible Mappings in Probabilistic 2-Metric Space

K. Satyanna*¹ and V. Srinivas²

¹ Department of Mathematics, M.A.L.D. Government Degree College, Gadwal, Palamoor University, Mahaboobnagar 509125, Telangana, India

² Department of Mathematics, University College of Science, Osmania University, Hyderabad 500004, Telangana, India

*Corresponding author: satgjls@gmail.com

Received: October 25, 2021

Accepted: January 29, 2022

Abstract. The objective of this paper is to obtain two results in probabilistic 2-metric space by employing the concepts of (E.A)-property, conditionally compatible, conditionally semi-compatible and sub-sequentially continuous mappings. These findings improve the theorem proved in [5]. Further, these results are substantiated by supporting examples.

Keywords. (E.A)-property, Conditionally compatible, Conditionally semi-compatible, Sub-sequentially continuous, Probabilistic 2-metric space

Mathematics Subject Classification (2020). 54H25, 47H10

Copyright © 2022 K. Satyanna and V. Srinivas. *This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.*

1. Introduction

Fixed point theory is a popular topic in contemporary analysis research. These findings will be valuable in the fields of science and engineering. Menger space is one category of advancement area initiated by Menger [7]. Menger introduced the theory of Statistical metric (SM/PM) space by interpreting the distance between two points using a probabilistic notion and a distribution function. By contributing essential notions such as neighborhoods, convergence and continuity Alsina *et al.* [1] enhanced these statistical metric spaces. Sehgal and Bharucha-Reid [10]

using the concept of contraction to extract fixed point results to enrich the Menger spaces. Mishra [8] established the compatible idea in Menger space, which allows numerous fixed point theory findings in statistical spaces to be proved and which drew the attention of several scholars. Singh and Jain [11] used the notion of weakly compatible mappings to generate fixed points in Menger space, Xiaohong *et al.* [13] contributed for the enrichment of SM-space in fixed point theory by employing Schweizer-Sklar t -norm in fuzzy logic system. Bisht and Shahazad [2] introduced another notion conditional compatible maps and extracted some results. Further, Jain and Khan [6] coined the similar concept conditional semi-compatible mappings and obtained some results in metric space. Some more results can be witnessed by using the concepts like sub-sequentially continuous and semi-compatible mappings in Menger space [9]. Gahler [3] employed the 2-metric space is the generalization of metric space. Further, this concepts is turned as probabilistic 2-metric space introduced by Golet [4]. Gupta *et al.* [5] employed the notion of weakly compatible mappings in 2-Menger space derived some fixed point results. In this paper, use the concepts of (E.A)-property [12] along with conditionally compatible, conditionally semi-compatible and sub-sequentially continuous in 2-Menger space and generate two fixed point theorems these are generalizations of the theorem proved by Gupta *et al.* [5].

2. Preliminaries

2.1 Definition ([5]). $F : \mathbb{R} \rightarrow \mathbb{R}^+$ is distribution function if it is

- (i) non-decreasing,
- (ii) continuous from left,
- (iii) $\inf\{F(\alpha) : \alpha \in \mathbb{R}\} = 0$,
- (iv) $\sup\{F(\alpha) : \alpha \in \mathbb{R}\} = 1$.

The letter L is used to refer to a collection of all distribution functions.

2.2 Definition ([5]). A probabilistic 2-metric space (2-PM space) is a pair (Ω, F) with $F : \Omega \times \Omega \times \Omega \rightarrow L$ here L stands as the set of all distribution functions and the F value at $(e, f, g) \in \Omega \times \Omega \times \Omega$ is written as $F_{e,f,g}$ and fulfill the following properties:

- (a) $F_{e,f,g}(0) = 0$,
- (b) $\exists g \in \Omega$ such that $F_{e,f,g}(t_\epsilon) < 1, \forall e, f \in \Omega, e \neq f$, for some $t_\epsilon > 0$,
- (c) $F_{e,f,g}(t_\epsilon) = 1, \forall t_\epsilon > 0$ if $e = f = g$ or $e = f$ or $f = g$ or $e = g$,
- (d) $F_{e,f,g}(t_\epsilon) = F_{f,g,e}(t_\epsilon) = F_{g,f,e}(t_\epsilon)$,
- (e) $F_{e,f,g}(t_x) = F_{f,g,e}(t_y) = F_{g,f,e}(t_z) = 1 \Rightarrow F_{e,f,g}(t_x + t_y + t_z) = 1$,

$\forall e, f, g \in \Omega$ and $t_x, t_y, t_z \geq 0$.

2.3 Definition ([5]). The mapping $t_\epsilon; [0, 1]^3 \rightarrow [0, 1]$ is a t -norm it has the properties:

- (i) $t_\epsilon(0, 0, 0) = 0$,

- (ii) $t_\epsilon(v, 1, 1) = v,$
 - (iii) $t_\epsilon(a_0, b_0, c_0) = t_\epsilon(b_0, c_0, a_0) = t_\epsilon(c_0, a_0, b_0),$
 - (iv) $t_\epsilon(d, e, f) \geq t_\epsilon(d_1, e_1, f_1)$ for $d \geq d_1, e \geq e_1, f \geq f_1,$
 - (v) $t_\epsilon(t_\epsilon(a_0, b_0, c_0), r, s) = t_\epsilon(a_0, t_\epsilon(b_0, c_0, r), s) = t_\epsilon(a_0, b_0, t_\epsilon(c_0, r, s)),$
- $\forall v, a_0, b_0, c_0, d, e, f, d_1, e_1, f_1 r$ and $s \in \Omega.$

2.4 Definition ([5]). A Menger probabilistic 2-metric space is a triplet (Ω, F, t_ϵ) where (Ω, F) is a 2-PM space and t_ϵ is a t -norm having triangle inequality:

$$F_{u,v,w}(t_x + t_y + t_z) \geq t(F_{u,v,p}(t_x), F_{u,p,w}(t_y), F_{p,v,w}(t_z)), \quad \forall w, p, v, u \in \Omega \text{ and } t_x, t_y, t_z \geq 0.$$

2.5 Definition ([5]). A sequence (p_n) in 2-Menger space (Ω, F, t_ϵ) :

- (i) converges to β if for each $\epsilon > 0, t_\epsilon > 0, \exists N(\epsilon) \in \mathbb{N} \Rightarrow F_{p_n, \beta, a}(\epsilon) > 1 - t_\epsilon, \forall a \in \Omega$ and $n \geq N(\epsilon),$
- (ii) Cauchy if for each $\epsilon > 0, t_\epsilon > 0, \exists N(\epsilon) \in \mathbb{N} \Rightarrow F_{p_n, p_m, a}(\epsilon) > 1 - t_\epsilon, \forall a \in \Omega$ and $n, m \geq N(\epsilon),$
- (iii) if each Cauchy sequence converges in Ω then it is mentioned as *complete* 2-Menger space.

2.6 Definition ([12]). Two mappings P, S on 2-Menger space to itself (Ω, F, t_ϵ) are having (E.A)-property means there is a sequence (c_m) such that $\lim_{m \rightarrow \infty} P c_m = \lim_{m \rightarrow \infty} S c_m = \mu$ for some $\mu \in \Omega.$

2.1 Example. Define $\forall t_\epsilon \in [0, 1]$

$$F_{v, \beta, \gamma}(t_1) = \begin{cases} \frac{t_\epsilon}{t_\epsilon + d(v, \beta)}, & \text{if } t_\epsilon > 0, \\ 0, & \text{if } t_\epsilon = 0, \end{cases} \tag{2.1}$$

$\forall v, \beta$ and fixed $\gamma = 0, t_\epsilon > 0.$

By considering $\Omega = (-\frac{\pi}{2}, \frac{\pi}{2})$ and d is usual distance on Ω then by eq. (2.1) (Ω, F, t_ϵ) forms 2-Menger space.

The mappings $P, S : \Omega \rightarrow \Omega$ are defined as

$$P(a) = \tan(a), \quad \forall a \in \left(-\frac{\pi}{2}, \frac{\pi}{2}\right), \tag{2.2}$$

$$S(a) = \sin(a), \quad \forall a \in \left(-\frac{\pi}{2}, \frac{\pi}{2}\right). \tag{2.3}$$

Then there is a sequence $(c_m) = \frac{3}{m^2}, \forall m \geq 1.$ Then from eq. (2.2)

$$\lim_{m \rightarrow \infty} P c_m = \lim_{m \rightarrow \infty} p \left(\frac{3}{m^2}\right) = \lim_{m \rightarrow \infty} \tan \left(\frac{3}{m^2}\right) = 0 \tag{2.4}$$

and from (2.3)

$$\lim_{m \rightarrow \infty} S c_m = \lim_{m \rightarrow \infty} S \left(\frac{3}{m^2}\right) = \lim_{m \rightarrow \infty} \sin \left(\frac{3}{m^2}\right) = 0. \tag{2.5}$$

Eqs. (2.4) and (2.5) resulting

$$\lim_{m \rightarrow \infty} P c_m = \lim_{m \rightarrow \infty} S c_m = 0. \tag{2.6}$$

Thus from eq. (2.6) the mappings P, S satisfy (E.A)-property.

2.7 Definition. Self-mappings P, S in 2-Menger space (Ω, F, t_c) are known as:

(a) *Compatible* [5] if $F_{PSx_n, SPx_n, a}(\beta) \rightarrow 1, \forall a \in \Omega$ and $\beta > 0$ whenever a sequence $(x_n) \in \Omega$ such that $Px_n, Sx_n \rightarrow \theta$ as $n \rightarrow \infty$ where θ is some element of Ω .

(b) *Weakly compatible* [6] if commute at their coincidence points.

(c) *Conditionally compatible* [2] if whenever the sequence (c_m) satisfying

$$\{(c_m): \lim_{m \rightarrow \infty} Pc_m = \lim_{m \rightarrow \infty} Sc_m\} \neq \phi$$

then there exists another sequence (e_m) in Ω with $\lim_{m \rightarrow \infty} Pe_m = \lim_{m \rightarrow \infty} Se_m = \eta$ for some $\eta \in X$ such that

$$\lim_{m \rightarrow \infty} F_{PSe_n, SPe_n, a}(\beta) = 1, \quad \forall a \in \Omega, \beta > 0.$$

(d) *Conditionally semi-compatible* [6] if whenever the sequence (c_m) satisfying

$$\{(c_m): \lim_{m \rightarrow \infty} Pc_m = \lim_{m \rightarrow \infty} Sc_m\} \neq \phi$$

then there exists another sequence (e_m) in Ω with $\lim_{m \rightarrow \infty} Pe_m = \lim_{m \rightarrow \infty} Se_m = \eta$ for some $\eta \in \Omega$ such that

$$\lim_{m \rightarrow \infty} F_{PSe_m, S\eta, a}(\beta) = 1 \text{ and } \lim_{m \rightarrow \infty} F_{SPe_m, P\eta, a}(\beta) = 1, \quad \forall a \in \Omega, \beta > 0.$$

(e) *Sub sequentially continuous* [9] if there exists a sequence $\{c_m\}$ such that

$$\lim_{m \rightarrow \infty} Pc_m = \lim_{m \rightarrow \infty} Sc_m = \eta, \quad \text{for some } \eta \in \Omega$$

$$\Rightarrow \lim_{m \rightarrow \infty} F_{P\eta, PS c_m, a}(\beta) = 1 \text{ and } \lim_{m \rightarrow \infty} F_{S\eta, SP c_m, a}(\beta) = 1, \quad \forall a \in \Omega, \text{ for some } \beta > 0.$$

2.2 Example. Let (Ω, F, t_c) be a 2-Menger space where F, t_c be as in eq. (2.1), choose $\Omega = R$. The mappings $P, S : \Omega \rightarrow \Omega$ are defined as:

$$P(a) = 2^{-a}, \quad \forall x \in R, \tag{2.7}$$

$$S(a) = 2^{-x^2}, \quad \forall x \in R. \tag{2.8}$$

Let $(a_m) = 1 - \frac{10}{m}, \forall m \geq 1$ then from eq. (2.7)

$$\lim_{m \rightarrow \infty} Pa_m = \lim_{m \rightarrow \infty} P\left(1 - \frac{10}{m}\right) = \lim_{m \rightarrow \infty} 2^{-(1 - \frac{10}{m})} = 2^{-1}, \tag{2.9}$$

$$\lim_{m \rightarrow \infty} Sa_m = \lim_{m \rightarrow \infty} S\left(1 - \frac{10}{m}\right) = \lim_{m \rightarrow \infty} 2^{-(1 - \frac{10}{m})^2} = 2^{-1}. \tag{2.10}$$

From eqs. (2.9)-(2.10), we get

$$\lim_{m \rightarrow \infty} Pa_m = \lim_{m \rightarrow \infty} Sa_m. \tag{2.11}$$

From eq. (2.11) implies

$$\{(a_m): \lim_{m \rightarrow \infty} Pa_m = \lim_{m \rightarrow \infty} Sa_m\} \neq \phi.$$

Then there exists another sequence $c_m = \frac{-5}{m}, \forall m \geq 1$ and from eq. (2.7)

$$\lim_{m \rightarrow \infty} Pc_m = \lim_{m \rightarrow \infty} P\left(\frac{-5}{m}\right) = \lim_{m \rightarrow \infty} 2^{-\frac{-5}{m}} = 1 \tag{2.12}$$

and eq. (2.8)

$$\lim_{m \rightarrow \infty} S c_m = \lim_{m \rightarrow \infty} S \left(\frac{-5}{m} \right) = \lim_{m \rightarrow \infty} 2^{-\left(\frac{-5}{m}\right)^2} = 1. \tag{2.13}$$

From eqs. (2.12), (2.13)

$$\lim_{m \rightarrow \infty} P c_m = \lim_{m \rightarrow \infty} S c_m = 1. \tag{2.14}$$

Further from eqs. (2.7), (2.13)

$$\lim_{m \rightarrow \infty} P S c_m = \lim_{m \rightarrow \infty} P \left(2^{-\left(\frac{-5}{m}\right)^2} \right) = \lim_{m \rightarrow \infty} 2^{-2^{-\left(\frac{-5}{m}\right)^2}} = 2^{-1}, \tag{2.15}$$

from eqs. (2.8), (2.12)

$$\lim_{m \rightarrow \infty} S P c_m = \lim_{m \rightarrow \infty} S \left(2^{\left(\frac{5}{m}\right)^2} \right) = \lim_{m \rightarrow \infty} 2^{-2^{\left(\frac{5}{m}\right)^2}} = 2^{-1}. \tag{2.16}$$

Thus from eqs. (2.15), (2.16)

$$\lim_{m \rightarrow \infty} F_{P S c_n, S P c_n, \alpha}(\beta) = 1. \tag{2.17}$$

Moreover at coincidence point $\alpha = 1, P(1) = S(1) = \frac{1}{2},$

$$P S(1) = P \left(\frac{1}{2} \right) = 2^{-\left(\frac{1}{2}\right)}, \tag{2.18}$$

$$S P(1) = S \left(\frac{1}{2} \right) = 2^{-\left(\frac{1}{4}\right)}. \tag{2.19}$$

From eqs. (2.18)-(2.19)

$$P S(1) \neq S P(1). \tag{2.20}$$

We can conclude that from eqs. (2.17), (2.20) the pair (P, S) is conditionally compatible but not weakly compatible.

2.3 Example. Let (Ω, F, t_c) be a 2-Menger space where F, t_c be as in eq. (2.1) and $\Omega = R.$

The mappings $P, S : \Omega \rightarrow \Omega$ are defined as

$$P(a) = 3^a, \quad \forall a \in R, \tag{2.21}$$

$$S(a) = 3^{a^2}, \quad \forall a \in R. \tag{2.22}$$

Let $(a_m) = 1 - \frac{2}{m}, \forall m \geq 1$ then from eq. (2.21)

$$\lim_{m \rightarrow \infty} P a_m = \lim_{m \rightarrow \infty} P \left(1 - \frac{2}{m} \right) = \lim_{m \rightarrow \infty} 3^{\left(1 - \frac{2}{m}\right)} = 3, \tag{2.23}$$

from eq. (2.22)

$$\lim_{m \rightarrow \infty} S a_m = \lim_{m \rightarrow \infty} S \left(1 - \frac{2}{m} \right) = 3^{\left(1 - \frac{2}{m}\right)^2} = 3. \tag{2.24}$$

Again from eqs. (2.23)-(2.24), we get

$$\lim_{m \rightarrow \infty} P a_m = \lim_{m \rightarrow \infty} S a_m. \tag{2.25}$$

From eq. (2.25)

$$\left\{ (a_m) : \lim_{m \rightarrow \infty} P a_m = \lim_{m \rightarrow \infty} S a_m \right\} \neq \phi.$$

There exists another sequence $e_m = \frac{3}{m}$, $\forall m \geq 1$ then from eq. (2.21)

$$\lim_{m \rightarrow \infty} P e_m = \lim_{m \rightarrow \infty} P \left(\frac{3}{m} \right) = \lim_{m \rightarrow \infty} 3^{\frac{3}{m}} = 1 \tag{2.26}$$

and eq. (2.22)

$$\lim_{m \rightarrow \infty} S e_m = \lim_{m \rightarrow \infty} S \left(\frac{3}{m} \right) = 3^{\left(\frac{3}{m}\right)^2} = 1. \tag{2.27}$$

Resulting from eqs. (2.26)-(2.27)

$$\lim_{m \rightarrow \infty} P e_m = \lim_{m \rightarrow \infty} S e_m = 1. \tag{2.28}$$

Further from eqs. (2.21), (2.27)

$$\lim_{m \rightarrow \infty} P S e_m = \lim_{m \rightarrow \infty} P \left(3^{\left(\frac{9}{m^2}\right)} \right) = \lim_{m \rightarrow \infty} 3^{3^{\left(\frac{9}{m^2}\right)}} = 3, \tag{2.29}$$

from eqs. (2.22), (2.26)

$$\lim_{m \rightarrow \infty} S P a_m = \lim_{m \rightarrow \infty} S \left(3^{\left(\frac{3}{m}\right)} \right) = \lim_{m \rightarrow \infty} 3^{3^{\left(\frac{3}{m}\right)^2}} = 3. \tag{2.30}$$

Thus from eqs. (2.29), (2.22), (2.30), (2.21)

$$\lim_{m \rightarrow \infty} F_{P S e_n, S(1), a}(\beta) = 1 \text{ and } \lim_{m \rightarrow \infty} F_{S P e_n, P(1), a}(\beta) = 1. \tag{2.31}$$

Further at coincidence point $a = 1$, $P(1) = S(1) = 3$,

$$P S(1) = P(3) = 27, \tag{2.32}$$

$$S P(1) = S(3) = 3^9. \tag{2.33}$$

From eqs. (2.32)-(2.33) implies

$$P S(1) \neq S P(1). \tag{2.34}$$

Hence we can conclude that from eqs. (2.31) and (2.34), the pair (P, S) is conditionally semi-compatible but not weakly compatible.

2.4 Example. Let (Ω, F, t_ϵ) be a 2-Menger space where F, t_ϵ be as in (2.1) and $\Omega = R$.

The mappings $P, S : \Omega \rightarrow \Omega$ are defined as

$$P(a) = \begin{cases} \frac{1}{4}, & \text{if } a < 0, \\ a^2, & \text{if } a \geq 0, \end{cases} \tag{2.35}$$

$$S(a) = \begin{cases} \frac{1}{5}, & \text{if } a < 0, \\ 4a - 3, & \text{if } a \geq 0. \end{cases} \tag{2.36}$$

Let $(c_m) = 1 - \frac{\sin(\frac{\pi m}{4})}{m}$, $\forall m \geq 1$ then from eq. (2.35)

$$\lim_{m \rightarrow \infty} P c_m = \lim_{m \rightarrow \infty} P \left(1 - \frac{\sin(\frac{\pi m}{4})}{m} \right) = \lim_{m \rightarrow \infty} \left(1 - \frac{\sin(\frac{\pi m}{4})}{m} \right)^2 = 1, \tag{2.37}$$

from eq. (2.36)

$$\lim_{m \rightarrow \infty} S c_m = \lim_{m \rightarrow \infty} S \left(1 - \frac{\sin(\frac{\pi m}{4})}{m} \right) = \lim_{m \rightarrow \infty} 4 \left(1 - \frac{\sin(\frac{\pi m}{4})}{m} \right) - 3 = 1. \tag{2.38}$$

From eqs. (2.37)-(2.38), we get

$$\lim_{m \rightarrow \infty} P c_m = \lim_{m \rightarrow \infty} S c_m = 1. \tag{2.39}$$

Further from eqs. (2.35), (2.38)

$$\lim_{m \rightarrow \infty} P S c_m = \lim_{m \rightarrow \infty} P \left(1 - 4 \frac{\sin(\frac{\pi m}{4})}{m} \right) = \lim_{m \rightarrow \infty} \left(1 - \frac{\sin(\frac{\pi m}{4})}{m} \right)^2 = 1, \tag{2.40}$$

from eqs. (2.36), (2.37)

$$\lim_{m \rightarrow \infty} S P a_m = \lim_{m \rightarrow \infty} S \left(1 - \frac{\sin(\frac{\pi m}{4})}{m} \right)^2 = \lim_{m \rightarrow \infty} 4 \left(1 - \frac{\sin(\frac{\pi m}{4})}{m} \right)^2 - 3 = 1. \tag{2.41}$$

Thus from eqs. (2.40), (2.35), (2.41), (2.36)

$$\lim_{m \rightarrow \infty} F_{P S c_m, P(1), \alpha}(\beta) = 1 \text{ and } \lim_{n \rightarrow \infty} F_{S P c_m, S(1), \alpha}(\beta) = 1. \tag{2.42}$$

Further $\alpha = 1, 3$ are coincidence points of the mappings P, S .

At $x = 3, P(3) = S(3) = 9$ so that

$$P S(3) = P(9) = 81 \tag{2.43}$$

and

$$S P(3) = S(9) = 33. \tag{2.44}$$

From eqs. (2.43)-(2.44)

$$P S(3) \neq S P(3). \tag{2.45}$$

Therefore from eqs. (2.42), (2.45) the pair (P, S) is sub-sequentially continuous but not weakly compatible.

The following theorem was proved by Gupta *et al.* [5].

2.1 Theorem. Let A, B, S and T be self-mappings on a complete probabilistic 2-metric space (X, F, t_ϵ) satisfying:

- (i) $A(X) \subseteq T(X), B(X) \subseteq S(X)$,
 - (ii) one of $A(X), B(X), T(X)$ or $S(X)$ is complete,
 - (iii) pairs (A, S) and (B, T) are weakly compatible,
 - (iv) $F_{Ax, By, \gamma}(t_\epsilon) \geq r(F_{Sx, Ty, \gamma}(t_\epsilon))$, for all x, y in X and $t_\epsilon > 0$,
- where $r : [0, 1] \rightarrow [0, 1]$ is some continuous function such that $r(t_\epsilon) > t_\epsilon$ for each $0 < t_\epsilon < 1$.
Then the mappings A, B, S and T have unique common fixed point in X .

Now, we give generalization of Theorem 2.1 as under.

3. Main Results

3.1 Theorem. Let A, B, S and T be mappings on a probabilistic 2-metric space (Ω, F, t_ϵ) to itself satisfying:

- (i) the pairs $(A, S), (B, T)$ satisfy (E.A)-property,

(ii) the pairs (A, S) , (B, T) are conditionally compatible and sub-sequentially continuous

$$F_{Aa, Bb, \gamma}(t_\epsilon) \geq r F_{Sa, Tb, \gamma}(t_\epsilon), \quad \forall a, b \in \Omega, t_\epsilon > 0. \tag{3.1}$$

Then the mappings A, B, S and T have unique common fixed point in Ω .

Proof. The pairs (A, S) , (B, T) satisfy (E.A)-property implies there exist two sequences $(a_m), (c_m)$ such that

$$\lim_{m \rightarrow \infty} Aa_m = \lim_{m \rightarrow \infty} Sa_m = \theta, \tag{3.2}$$

$$\lim_{m \rightarrow \infty} Bc_m = \lim_{m \rightarrow \infty} Tc_m = \mu, \tag{3.3}$$

for some $\theta, \mu \in \Omega$.

From eqs. (3.2)-(3.3)

$$\{(a_m) : \lim_{m \rightarrow \infty} Aa_m = \lim_{m \rightarrow \infty} Sa_m\} \neq \phi.$$

Conditionally compatible of the pairs (A, S) implies there exists another sequence (b_m) , with

$$\lim_{m \rightarrow \infty} Ab_m = \lim_{m \rightarrow \infty} Sb_m = \alpha, \tag{3.4}$$

such that

$$\lim_{m \rightarrow \infty} F_{ASb_m, SAb_m, \alpha}(\beta) = 1. \tag{3.5}$$

Also the sub-sequentially continuous of the pair (A, S) implies

$$\lim_{m \rightarrow \infty} F_{ASb_m, A\alpha, \alpha}(\beta) = 1 \text{ and } \lim_{m \rightarrow \infty} F_{SAb_m, S\alpha, \alpha}(\beta) = 1. \tag{3.6}$$

Using eq. (3.6) in eq. (3.5)

$$F_{A\alpha, S\alpha, \alpha}(\beta) = 1$$

$$\Rightarrow A\alpha = S\alpha. \tag{3.7}$$

From eq. (3.3)

$$\{(c_m) : \lim_{m \rightarrow \infty} Bc_m = \lim_{m \rightarrow \infty} Tc_m\} \neq \phi.$$

Then conditionally compatible of the pairs (B, T) implies there exists another sequence (d_m) , with

$$\lim_{m \rightarrow \infty} Bd_m = \lim_{m \rightarrow \infty} Td_m = \delta, \tag{3.8}$$

such that

$$\lim_{m \rightarrow \infty} F_{BTd_m, TBd_m, \delta}(\beta) = 1. \tag{3.9}$$

Also, the sub-sequentially continuous of the pair (B, T) implies

$$\lim_{m \rightarrow \infty} F_{BTd_m, B\delta, \delta}(\beta) = 1 \text{ and } \lim_{m \rightarrow \infty} F_{TBd_m, T\delta, \delta}(\beta) = 1. \tag{3.10}$$

Using eq. (3.10) in eq. (3.9), we get

$$F_{B\delta, T\delta, \delta}(\beta) = 1$$

$$\Rightarrow B\delta = T\delta. \tag{3.11}$$

Claim $\alpha = \delta$.

Assume $\alpha \neq \delta$.

Using $a = b_m, b = d_m$ in eq. (3.1)

$$F_{Ab_m, Bd_m, \gamma}(t_\epsilon) \geq r(F_{Sb_m, Td_m, \gamma}(t_\epsilon))$$

as $m \rightarrow \infty$ from eqs. (3.4), (3.8)

$$F_{\alpha, \delta, \gamma}(t_\epsilon) \geq r(F_{\alpha, \delta, \gamma}(t_\epsilon)) \tag{3.12}$$

but

$$r(F_{\alpha, \delta, \gamma}(t_\epsilon)) > (F_{\alpha, \delta, \gamma}(t_\epsilon)) \tag{3.13}$$

since $\alpha \neq \delta$.

From eqs. (3.12)-(3.13)

$$F_{\alpha, \delta, \gamma}(t_\epsilon) > F_{\alpha, \delta, \gamma}(t_\epsilon). \tag{3.14}$$

This contradicts the fact $\alpha \neq \delta$. Hence $\alpha = \delta$.

Claim $A\alpha = \delta$.

Assume $A\alpha \neq \delta$.

Using $a = \alpha, b = d_m$ in eq. (3.1)

$$F_{A\alpha, Bd_m, \gamma}(t_\epsilon) \geq r(F_{S\alpha, Td_m, \gamma}(t_\epsilon))$$

as $m \rightarrow \infty$ and use eq. (3.7)

$$F_{A\alpha, \delta, \gamma}(t_\epsilon) \geq r(F_{A\alpha, \delta, \gamma}(t_\epsilon)) \tag{3.15}$$

but

$$r(F_{A\alpha, \delta, \gamma}(t_\epsilon)) > (F_{A\alpha, \delta, \gamma}(t_\epsilon)) \tag{3.16}$$

since $A\alpha \neq \delta$.

From eqs. (3.15)-(3.16)

$$F_{A\alpha, \delta, \gamma}(t_\epsilon) > F_{A\alpha, \delta, \gamma}(t_\epsilon). \tag{3.17}$$

This contradicts the fact $A\alpha \neq \delta$. Hence $A\alpha = \delta$.

Claim $\alpha = B\delta$.

Assume $\alpha \neq B\delta$.

Using $a = b_m, b = \delta$ in eq. (3.1)

$$F_{Ab_m, B\delta, \gamma}(t_\epsilon) \geq r(F_{Sb_m, T\delta, \gamma}(t_\epsilon))$$

as $m \rightarrow \infty$ and use eq. (3.11)

$$F_{\alpha, B\delta, \gamma}(t_\epsilon) \geq r(F_{\alpha, B\delta, \gamma}(t_\epsilon)) \tag{3.18}$$

but

$$r(F_{\alpha, B\delta, \gamma}(t_\epsilon)) > (F_{\alpha, B\delta, \gamma}(t_\epsilon)) \tag{3.19}$$

since $\alpha \neq B\delta$.

From eqs. (3.18)-(3.19)

$$F_{\alpha, B\delta, \gamma}(t_\epsilon) > F_{\alpha, B\delta, \gamma}(t_\epsilon). \tag{3.20}$$

This contradicts the fact $\alpha \neq B\delta$.

Hence $\alpha = B\delta$.

Combining all, we can deduce that

$$A\alpha = S\alpha = B\alpha = T\alpha = \alpha. \tag{3.21}$$

Uniqueness: Suppose α_o be another point satisfying eq. (3.21). By eq. (3.1)

$$F_{A\alpha, B\alpha_o, \gamma}(t_\epsilon) \geq rF_{S\alpha, T\alpha_o, \gamma}(t_\epsilon). \tag{3.22}$$

Using (3.21) gives

$$F_{\alpha, \alpha_o, \gamma}(t_\epsilon) \geq rF_{\alpha, \alpha_o, \gamma}(t_\epsilon) > F_{\alpha, \alpha_o, \gamma}(t_\epsilon)$$

which is absurd, resulting $\alpha = \alpha_o$.

Therefore, α is the unique common fixed point for the mappings A, S, B, T . □

Now, we provide a supporting illustration to justify Theorem 3.1.

3.1 Example. Let (Ω, F, t_ϵ) be a 2-Menger space where F, t_ϵ be as in (2.1) and $\Omega = [0, 1]$. The mappings $A, S, B, T : \Omega \rightarrow \Omega$ are defined as

$$A(a) = B(a) = \begin{cases} \frac{1}{4}, & \text{if } a = 0, \\ 1 - 4a, & \text{if } a \in (0, \frac{1}{6}], \\ a^3, & \text{if } a \in (\frac{1}{6}, 1], \end{cases} \tag{3.23}$$

$$S(a) = T(a) = \begin{cases} \frac{1}{5}, & \text{if } a = 0, \\ 2a, & \text{if } a \in (0, \frac{1}{6}], \\ a^2, & \text{if } a \in (\frac{1}{6}, 1]. \end{cases} \tag{3.24}$$

From eqs. (3.23) and (3.24) we have $a = (\frac{1}{6}, 1)$ are coincidence points for mappings A, S .

At $a = \frac{1}{6}$, $S(\frac{1}{6}) = A(\frac{1}{6}) = \frac{1}{3}$ and

$$AS\left(\frac{1}{6}\right) = A\left(\frac{1}{3}\right) = \left(\frac{1}{3}\right)^3 = \frac{1}{27}, \tag{3.25}$$

$$SA\left(\frac{1}{6}\right) = S\left(\frac{1}{3}\right) = \left(\frac{1}{3}\right)^2 = \frac{1}{9}. \tag{3.26}$$

From eq. (3.25) and eq. (3.26)

$$AS\left(\frac{1}{6}\right) \neq SA\left(\frac{1}{6}\right). \tag{3.27}$$

Hence from eq. (3.28) the mappings are not weakly compatible.

Take a sequence $(a_m) = \frac{1}{6} - \frac{\sqrt{6}}{m}$, $\forall m \geq 1$ then eq. (3.23)

$$\lim_{m \rightarrow \infty} Aa_m = \lim_{m \rightarrow \infty} A\left(\frac{1}{6} - \frac{\sqrt{6}}{m}\right) = \lim_{m \rightarrow \infty} 1 - 4\left(\frac{1}{6} - \frac{\sqrt{6}}{m}\right) = \frac{1}{3}, \tag{3.28}$$

from eq. (3.24)

$$\lim_{m \rightarrow \infty} Sa_m = \lim_{m \rightarrow \infty} S\left(\frac{1}{6} - \frac{\sqrt{6}}{m}\right) = \lim_{m \rightarrow \infty} 2\left(\frac{1}{6} - \frac{\sqrt{6}}{m}\right) = \frac{1}{3}. \tag{3.29}$$

From eqs. (3.28)-(3.29), we get

$$\lim_{m \rightarrow \infty} Aa_m = \lim_{m \rightarrow \infty} Sa_m = \frac{1}{3}. \tag{3.30}$$

Hence the pairs $(A, S), (B, T)$ are satisfying (E.A)-property.

From eq. (3.30)

$$\{(a_m) : \lim_{m \rightarrow \infty} Aa_m = \lim_{m \rightarrow \infty} Sa_m\} \neq \phi$$

so that there exists another sequence $(c_m) = 1 - \frac{2\sqrt{2}}{m^2}, \forall m \geq 1$. Then from eq. (3.23)

$$\lim_{m \rightarrow \infty} Ac_m = \lim_{m \rightarrow \infty} A \left(1 - \frac{2\sqrt{2}}{m^2} \right) = \lim_{m \rightarrow \infty} \left(1 - \frac{2\sqrt{2}}{m^2} \right)^3 = 1 \tag{3.31}$$

and from eq. (3.24)

$$\lim_{m \rightarrow \infty} Sc_m = \lim_{m \rightarrow \infty} S \left(1 - \frac{2\sqrt{2}}{m^2} \right) = \lim_{m \rightarrow \infty} \left(1 - \frac{2\sqrt{2}}{m^2} \right)^2 = 1. \tag{3.32}$$

Now from eqs. (3.31)-(3.32)

$$\lim_{m \rightarrow \infty} Ac_m = \lim_{m \rightarrow \infty} Sc_m = 1. \tag{3.33}$$

Further from eqs. (3.23)-(3.32)

$$\lim_{m \rightarrow \infty} ASc_m = \lim_{m \rightarrow \infty} P \left(1 - \frac{2\sqrt{2}}{m^2} \right)^2 = \lim_{m \rightarrow \infty} \left(1 - \frac{2\sqrt{2}}{m^2} \right)^6 = 1, \tag{3.34}$$

from eqs. (3.24), (3.31)

$$\lim_{m \rightarrow \infty} SAc_m = \lim_{m \rightarrow \infty} S \left(1 - \frac{2\sqrt{2}}{m^2} \right)^3 = \lim_{m \rightarrow \infty} \left(1 - \frac{2\sqrt{2}}{m^2} \right)^6 = 1. \tag{3.35}$$

Thus from eqs. (3.34)-(3.35)

$$\lim_{m \rightarrow \infty} F_{ASc_m, SAc_m, a}(\beta) = 1. \tag{3.36}$$

Further from (3.23), (3.34), (3.24) and (3.35)

$$\lim_{m \rightarrow \infty} F_{ASc_m, A(1), a}(\beta) = 1 \text{ and } \lim_{m \rightarrow \infty} F_{SAc_m, S(1), a}(\beta) = 1. \tag{3.37}$$

From (3.30), (3.36) and (3.37) we can conclude that the pairs $(A, S), (B, T)$ are satisfying (E.A)-property, conditionally compatible and sub-sequentially continuous properties.

Moreover, at $a = 1, A(1) = S(1) = B(1) = T(1) = 1$. This demonstrate that the mappings A, S, B, T met all of the conditions of Theorem 3.1 and having single common fixed point at $a = 1$.

Now, we give another generalization of Theorem 2.1 as under.

3.2 Theorem. Let A, B, S and T be mappings on a probabilistic 2-metric space (Ω, F, t_ϵ) to itself satisfying:

- (i) the pairs $(A, S), (B, T)$ satisfy (E.A)-property,
- (ii) the pairs $(A, S), (B, T)$ are conditionally semi-compatible and sub-sequentially continuous:

$$F_{Aa, Bb, \gamma}(t_\epsilon) \geq r(F_{Sa, Tb, \gamma}(t_\epsilon)), \quad \forall a, b \in \Omega, t_\epsilon > 0.$$

Then the mappings A, B, S and T have unique common fixed point in Ω .

Proof. The pairs (A, S) , (B, T) satisfy (E.A)-property implies there exist two sequences (x_m) , (y_m) such that

$$\lim_{m \rightarrow \infty} Ax_m = \lim_{m \rightarrow \infty} Sx_m = u, \tag{3.38}$$

$$\lim_{m \rightarrow \infty} By_m = \lim_{m \rightarrow \infty} Ty_m = v, \tag{3.39}$$

for some $u, v \in \Omega$.

From eq. (3.38)

$$\{(x_m) : \lim_{m \rightarrow \infty} Ax_m = \lim_{m \rightarrow \infty} Sx_m\} \neq \phi.$$

Conditionally semi-compatible of the pairs (A, S) implies there exists another sequence (u_m) , with

$$\lim_{m \rightarrow \infty} Au_m = \lim_{m \rightarrow \infty} Su_m = \eta, \tag{3.40}$$

such that

$$\lim_{m \rightarrow \infty} F_{ASu_m, S\eta, \alpha}(\beta) = 1 \text{ and } \lim_{m \rightarrow \infty} F_{SAu_m, A\eta, \alpha}(\beta) = 1. \tag{3.41}$$

Also the sub-sequentially continuous of the pair (A, S) implies

$$\lim_{m \rightarrow \infty} F_{ASu_m, A\eta, \alpha}(\beta) = 1 \text{ and } \lim_{m \rightarrow \infty} F_{SAu_m, S\eta, \alpha}(\beta) = 1. \tag{3.42}$$

Using eq. (3.42) in eq. (3.41)

$$F_{A\eta, S\eta, \alpha}(\beta) = 1$$

$$\Rightarrow A\eta = S\eta. \tag{3.43}$$

From eq. (3.39)

$$\{(y_m) : \lim_{m \rightarrow \infty} By_m = \lim_{m \rightarrow \infty} Ty_m\} \neq \phi.$$

Conditionally semi-compatible of the pairs (B, T) implies there exists another sequence (v_m) , with

$$\lim_{m \rightarrow \infty} Bv_m = \lim_{m \rightarrow \infty} Tv_m = \zeta, \tag{3.44}$$

such that

$$\lim_{m \rightarrow \infty} F_{BTv_m, T\zeta, \alpha}(\beta) = 1 \text{ and } \lim_{m \rightarrow \infty} F_{TBv_m, B\zeta, \alpha}(\beta) = 1. \tag{3.45}$$

Also the sub-sequentially continuous of the pair (B, T) implies

$$\lim_{m \rightarrow \infty} F_{BTv_m, B\zeta, \alpha}(\beta) = 1 \text{ and } \lim_{m \rightarrow \infty} F_{TBv_m, T\zeta, \alpha}(\beta) = 1. \tag{3.46}$$

Using eq. (3.45) in eq. (3.46)

$$F_{B\zeta, T\zeta, \alpha}(\beta) = 1$$

$$\Rightarrow B\zeta = T\zeta. \tag{3.47}$$

Claim $\eta = \zeta$.

Assume $\eta \neq \zeta$.

Using $a = u_m$, $b = v_m$ in eq. (3.1)

$$F_{Au_m, Bv_m, \gamma}(t_\epsilon) \geq r(F_{Su_m, Tv_m, \gamma}(t_\epsilon))$$

as $m \rightarrow \infty$ from eqs. (3.40), (3.44)

$$F_{\eta,\zeta,\gamma}(t_\epsilon) \geq r(F_{\eta,\zeta,\gamma}(t_\epsilon)) \tag{3.48}$$

but

$$r(F_{\eta,\zeta,\gamma}(t_\epsilon)) > (F_{\eta,\zeta,\gamma}(t_\epsilon)) \tag{3.49}$$

since $\alpha \neq \delta$.

From eqs. (3.48)-(3.49)

$$F_{\eta,\zeta,\gamma}(t_\epsilon) > F_{\eta,\zeta,\gamma}(t_\epsilon). \tag{3.50}$$

This contradicts the fact $\eta \neq \zeta$. Hence $\eta = \zeta$.

Claim $A\eta = \zeta$.

Assume $A\eta \neq \zeta$.

Using $a = \eta$, $b = v_m$ in eq. (3.1)

$$F_{A\eta,Bb_m,\gamma}(t_\epsilon) \geq r(F_{S\eta,Tv_m,\gamma}(t_\epsilon))$$

as $m \rightarrow \infty$ and use eq. (3.44)

$$F_{A\eta,\zeta,\gamma}(t_\epsilon) \geq r(F_{A\eta,\zeta,\gamma}(t_\epsilon)) \tag{3.51}$$

but

$$r(F_{A\eta,\zeta,\gamma}(t_\epsilon)) > (F_{A\eta,\zeta,\gamma}(t_\epsilon)) \tag{3.52}$$

since $A\eta \neq \zeta$.

From eqs. (3.51)-(3.52)

$$F_{A\eta,\zeta,\gamma}(t_\epsilon) > F_{A\eta,\zeta,\gamma}(t_\epsilon). \tag{3.53}$$

This contradicts the fact $A\eta \neq \zeta$. Hence $A\eta = \zeta$.

Claim $\eta = B\zeta$.

Assume $\eta \neq B\zeta$.

Using $a = u_m$, $b = \zeta$ in eq. (3.1)

$$F_{Au_m,B\zeta,\gamma}(t_\epsilon) \geq r(F_{Su_m,T\zeta,\gamma}(t_\epsilon))$$

as $m \rightarrow \infty$ and use eqs. (3.40), (3.47)

$$F_{\eta,B\zeta,\gamma}(t_\epsilon) \geq r(F_{\eta,B\zeta,\gamma}(t_\epsilon)) \tag{3.54}$$

but

$$r(F_{\eta,B\zeta,\gamma}(t_\epsilon)) > (F_{\eta,B\zeta,\gamma}(t_\epsilon)) \tag{3.55}$$

since $\eta \neq B\zeta$.

From eqs. (3.54)-(3.55)

$$F_{\eta,B\zeta,\gamma}(t_\epsilon) > F_{\eta,B\zeta,\gamma}(t_\epsilon). \tag{3.56}$$

This contradicts the fact $\eta \neq B\zeta$. Hence $\eta = B\zeta$. Combining all we can conclude that

$$A\eta = S\eta = B\eta = T\eta = \eta. \tag{3.57}$$

Uniqueness follows easily. □

Now, we justified our theorem with proper illustration.

3.2 Example. Let (Ω, F, t_c) be a 2-Menger space where F, t_c be as in eq. (2.1) and $\Omega = R$. The mappings $A, S, B, T : \Omega \rightarrow \Omega$ are defined as

$$A(a) = B(a) = \begin{cases} \left(\frac{1}{3}\right)^a, & \text{if } a \leq 0, \\ a^2, & \text{if } a > 0, \end{cases} \tag{3.58}$$

$$S(a) = T(a) = \begin{cases} \left(\frac{1}{3}\right)^{2a}, & \text{if } a \leq 0, \\ 3a - 2, & \text{if } a > 0. \end{cases} \tag{3.59}$$

From eq. (3.58) and eq. (3.59), $a = 0, 1$ and 2 are coincidence points for the mappings A, S .

At $a = 2, S(2) = A(2) = 4$ and

$$AS(2) = A(4) = 16, \tag{3.60}$$

$$SA(2) = S(4) = 10. \tag{3.61}$$

From eq. (3.60) and eq. (3.61)

$$AS(2) \neq SA(2). \tag{3.62}$$

Hence from eq. (3.62) the mappings are not weakly compatible.

For a sequence $(p_m) = -\frac{\sin \frac{\pi m}{2}}{m}, \forall \geq 1$ then eq. (3.58)

$$\lim_{m \rightarrow \infty} Aa_m = \lim_{m \rightarrow \infty} A\left(-\frac{\sin \frac{\pi m}{2}}{m}\right) = \lim_{m \rightarrow \infty} \left(\frac{1}{3}\right)^{-\left(\frac{\sin \frac{\pi m}{2}}{m}\right)} = 1, \tag{3.63}$$

from eq. (3.59)

$$\lim_{m \rightarrow \infty} Sa_m = \lim_{m \rightarrow \infty} S\left(-\frac{\sin \frac{\pi m}{2}}{m}\right) = \lim_{m \rightarrow \infty} \left(\frac{1}{3}\right)^{-2\left(\frac{\sin \frac{\pi m}{2}}{m}\right)} = 1. \tag{3.64}$$

From eq. (3.63)-(3.64), we get

$$\lim_{m \rightarrow \infty} Aa_m = \lim_{m \rightarrow \infty} Sa_m = 1. \tag{3.65}$$

Hence the pairs $(A, S), (B, T)$ are satisfying (E.A)-property.

From eq. (3.65)

$$\left\{ (p_m) : \lim_{m \rightarrow \infty} Ap_m = \lim_{m \rightarrow \infty} Sp_m \right\} \neq \phi$$

there exists another sequence $(q_m) = 1 - \frac{\cos \frac{\pi m}{2}}{m^2}, \forall m \geq 1$. Then from eq. (3.58)

$$\lim_{m \rightarrow \infty} Aq_m = \lim_{m \rightarrow \infty} A\left(1 - \frac{\cos \frac{\pi m}{2}}{m^2}\right) = \lim_{m \rightarrow \infty} \left(1 - \frac{\cos \frac{\pi m}{2}}{m^2}\right)^2 = 1 \tag{3.66}$$

and eq. (3.59) gives

$$\lim_{m \rightarrow \infty} Sq_m = \lim_{m \rightarrow \infty} S\left(1 - \frac{\cos \frac{\pi m}{2}}{m^2}\right) = \lim_{m \rightarrow \infty} 3\left(1 - \frac{\cos \frac{\pi m}{2}}{m^2}\right) - 2 = 1. \tag{3.67}$$

From eqs. (3.65), (3.67)

$$\lim_{m \rightarrow \infty} Aq_m = \lim_{m \rightarrow \infty} Sq_m = 1. \tag{3.68}$$

Further from eqs. (3.58), (3.67)

$$\lim_{m \rightarrow \infty} ASq_m = \lim_{m \rightarrow \infty} A \left(1 - 3 \frac{\cos \frac{\pi m}{2}}{m^2} \right)^2 = \lim_{m \rightarrow \infty} \left(1 - 3 \frac{\cos \frac{\pi m}{2}}{m^2} \right)^2 = 1 \tag{3.69}$$

from eqs. (3.59), (3.66)

$$\lim_{m \rightarrow \infty} SAq_m = \lim_{m \rightarrow \infty} S \left(1 - \frac{\cos \frac{\pi m}{2}}{m^2} \right)^2 = \lim_{m \rightarrow \infty} 3 \left(1 - \frac{\cos \frac{\pi m}{2}}{m^2} \right)^2 - 2 = 1. \tag{3.70}$$

Thus from eqs. (3.58), (3.59), and from eqs. (3.69), (3.70)

$$\lim_{m \rightarrow \infty} F_{ASq_m, S(1), \alpha}(\beta) = 1 \text{ and } \lim_{m \rightarrow \infty} F_{SAq_m, A(1), \alpha}(\beta) = 1. \tag{3.71}$$

Further from eqs. (3.58), (3.59), and from eqs. (3.69), (3.70)

$$\lim_{m \rightarrow \infty} F_{ASq_m, A(1), \alpha}(\beta) = 1 \text{ and } \lim_{m \rightarrow \infty} F_{SAq_m, S(1), \alpha}(\beta) = 1. \tag{3.72}$$

From eqs. (3.65), (3.71) and (3.72) we conclude that the pairs (A, S) , (B, T) are satisfying (E.A)-property, conditionally semi-compatible and sub-sequentially continuous properties.

Moreover, at $\alpha = 1$, $A(1) = S(1) = B(1) = T(1) = 1$. Thus the mappings A, S, B, T satisfy all the conditions of Theorem 3.2 having the single common fixed point at $\alpha = 1$.

4. Conclusions

We generalized Theorem 2.1 in two ways by using: (i) the conditions (E.A)-property, conditionally compatible and sub-sequentially continuous in place of weakly compatible mappings in Theorem 3.1 (ii) the conditions (E.A)-property, conditionally semi-compatible and sub-sequentially continuous in place of weakly compatible mappings in Theorem 3.2. Further, these two results are justified with suitable examples.

Remark. In our result it can be noticed that the condition of completeness, closed property of subspace and inclusion condition have been removed. Further (E.A)-property is admitted in place of inclusion condition. Moreover the conditions of conditionally compatible, conditionally semi-compatible and sub-sequentially continuous have been utilized. These conditions are weaker than weakly compatible condition used in Theorem 2.1.

Competing Interests

The authors declare that they have no competing interests.

Authors' Contributions

All the authors contributed significantly in writing this article. The authors read and approved the final manuscript.

References

- [1] C. Alsina, B. Schweizer and A. Sklar, On the definition of a probabilistic normed space, *Aequationes Mathematicae* **46** (1993), 91 – 98, DOI: 10.1007/BF01834000.

- [2] R.K. Bisht and N. Shahzad, Faintly compatible mappings and common fixed points, *Fixed Point Theory and Applications* **2013** (2013), Article number: 156, DOI: 10.1186/1687-1812-2013-156.
- [3] S. Gähler, 2-metrische Räume und ihre topologische Struktur, *Mathematische Nachrichten* **26**(1-4) (1963), 115 – 148, DOI: 10.1002/mana.19630260109.
- [4] I. Golet, Fixed point theorems for multivalued mapping in probabilistic 2-metric spaces, *Analele Stiintifice ale Universitatii Ovidius Constanta* **3** (1995), 44 – 51.
- [5] V.K. Gupta, A. Jain and R. Kumar, Common fixed point theorem in probabilistic 2-Metric space by weak compatibility, *International Journal of Theoretical and Applied Sciences* **11** (2019), 9 – 12.
- [6] M.K. Jain and M.S. Khan, Generalization of semi compatibility with some fixed point theorems under strict contractive condition, *Applied Mathematics E-Notes* **17** (2017), 25 – 35.
- [7] K. Menger, Statistical metrics, *Proceedings of the National Academy of Sciences of the United States of America* **28**(12) (1942), 535 – 537, DOI: 10.1073/pnas.28.12.535.
- [8] S.N. Mishra, Common fixed points of compatible mappings in PM-spaces, *Mathematica Japonica* **36** (1991), 283 – 289.
- [9] K. Satyanna and V. Srinivas, Fixed point theorem using semi compatible and sub-sequentially continuous mappings in Menger space, *Journal of Mathematical and Computational Science* **10**(6) (2020), 2503 – 2515, DOI: 10.28919/jmcs/4953.
- [10] V.M. Sehgal and A.T. Bharucha-Reid, Fixed points of contraction mappings on probabilistic metric spaces, *Mathematical Systems Theory* **6** (1972), 97 – 102, DOI: 10.1007/BF01706080.
- [11] B. Singh and S. Jain, A fixed point theorem in Menger space through weak compatibility, *Journal of Mathematical Analysis and Applications* **301**(2) (2005), 439 – 448, DOI: 10.1016/j.jmaa.2004.07.036.
- [12] V. Srinivas, T. Tirupathi and K. Mallaiah, A fixed point theorem using EA property on multiplicative metric space, *Journal of Mathematical and Computational Science* **10** (2020), 1788 – 1800, DOI: 10.28919/jmcs/4752.
- [13] Z. Xiaohong, H. Huacan and X. Yang, A fuzzy logic system based on Schweizer-Sklar t -norm, *Science in China Series F: Information Sciences* **49** (2006), 175 – 188, DOI: 10.1007/s11432-006-0175-y.

